[image: -y (-y/2-2/3) = -5 (-1/2+y/4)+(-y/6+7×y/12)]


[image: -(-y/2-2/3) y = (5 y)/12-5 (y/4-1/2)]


[image: http://www4c.wolframalpha.com/Calculate/MSP/MSP1441hbd0gh325g9g2h20000453c6e7dh1467cab?MSPStoreType=image/gif&s=50]


[image: 4/29 (y+3/2)^2 = 1]


[image: 1/6 y (3 y+4) = -5/6 (y-3)]


[image: y^2/2+(3 y)/2-5/2 = 0]


[image: y^2/2+(2 y)/3 = (5 y)/12-5 (y/4-1/2)]


[image: y^2/2+(2 y)/3 = 5/2-(5 y)/6]


[image: y = -3/2-sqrt(29)/2]


[image: y = sqrt(29)/2-3/2]
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